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2021.04.02. S22 UH|(BARE 2+ 2 Y 2x3teh £ =3tz 100,0009 * 13
2021.08.03. 2L ZMH|(FARL 2+ A B A 22518 = &3tz 100,0008 * 13
2021.08.25. S22 2 BHE 7Y) g2 HHEFE| 30,0009*19% =570,000¢
2021.09.27. S| 2dH|(EH A O 2 7Y) £ SH[A AL R, Ctt & 7€ 122,940 * 13]
2021.09.27. 3|9|H| £ 2l ctut
2021.09.28. 3[2|H| £ 2|9 = A|E 8,000¥*7F = 56,000
2021.11.01. [(BALRF Z*+ Xt AE X38)3)8h = =813 90,0009 * 13
e QLR BAXE /2E AAL ofH] X[
2021.11.16. (Rl A= HAAE) £ O{H] 10,000¥*5% = 50,000
AlL§ 7,000@*5H*2Y = 70,000
2021.12.07. EOj R} Ux HA| 2x3teh = Z3}zt 100,000 * 13
2021.12.22 AR HEET 2871+ 7)) = El1CH 620,000 * 1CH
2021.12.22. Am U S 24 Fop ZCtEh = ZCHe 30,0008 * 13
2021.12.30. H|(ZHH|A Aol 9 7¢) = SHA AHIOF, Ot & 78 196,310) * 12
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